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Answer option ¢ (8) thank you for the great session sir
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If 10 man or 20 woman or 40 boys can complete a work in 7 days then find in how
many days S man, 5 woman and 5 boy complete the same work?

Ife 10 QY AT 20 ARATT AT 40 &5k Teh H A 7 f&Al A QU X Fha & o 1 Ao
fef 5 gou, 5 AfRel 3R 5 o5 3T HI Pl fhdal Gl # QU AL §2

1.7
2.6
3.8
4.9
5.NOT




If 2 man complete a work in 3 days while 3 woman complete this work in 4 days P\
while 4 boys can do this same work in 6 days. Then find in how many days 1 man, 3

woman and 2 boys complete the work?

uﬁzwwaﬂ?ﬁaﬁ3ﬁa’rﬁ d & STdich 3 ATGTT SH DA Bl 4 &t #H QU BT
%01mq~»4<>15qv?>@raﬂ'éraﬁ6ﬁ\7—l’rafr P Hehd &1 ar A HIfSD 6 1 g0, 3 Higell
ﬁzaﬁmﬁaﬁﬁmﬁmﬁwm%fz

1.1
2.3
3.4
4.2
5.NOT




A started a work and left working 4 days. B finished the remaining work in next 18
days. Had A left the work after working for 6 days then B would have finished the

remaining work in next 12 days. Then find in how many days A alone complete this

work ?

A Th BRI Y& fhar 3 4 & FRI HEr BIs GATI BA AW BRI &l 30T 18 feadl & qu
pY Torar| Ife A 6 ool o T 1A Al o dIc BIH Sig AT &1dT, ol B AW HIH &l
39Tl 12 AT 3 QAT &R oidT| af A1 diiord o A 3hel 30 B &I fohdel GaAt 3 @T aar

&7

1.10
2.20
3.15
4.30
5.NOT




If A can complete a work in 20 days and B can do the same work in 30 days then
find in how many days A and B complete this work?

Ife ATHR B Pl 20 &Gl A QT & bl & 3R B3 dT &l 30 &l A AT Hhar & ot
Td HIGT fF AR B3d & & fohda feat & @@ o &2

1.10
2.12
3.15
4.19
5.NOT




If A can complete a work in 24/5 days and B can do the same work in 72/7 days then
find in how many days A and B complete this work?

If& ATD BRI Bl 24/5 &l H QU T Fehdl & 3R BT &I Bl 72/7 Gl A QU &
AhdT & dl AR B3 d1F &l fohdal feal H QT X €2

1.23
2.12
3.10
4.21
5.NOT




If A can do a work 36 days and A and B together can complete the work in 12 days
then find in how many days B alone complete this work?

Ife ATHR BRI Pl 36 GAl A B Fhdl & 3R AR B fFAAR 39 d @l 12 &t d g1 o
Ahcd & dl B 3Thel 30 BT &l fohdel Al H QI B Thcll &7

1.12
2.16
3.18
4.20
5.NOT




If A and B together can complete the work in 30 days while B and C together can
complete the work in 24 days while C and A together can complete the work in 20 days.

(A)Find in how many days they all together complete the work

(B)Find in how many days B alone complete the work

Ifg AR B Fea & & 30 feat F QT & ddhd & STafe B3R ¢ e &g & 24
feat & @@ wamd%aaﬁﬁcmAﬁwamfraﬁzo%a’rﬁ Y Thd gl
(U)waaﬁﬁlﬁﬁﬁéasﬁﬁwmaﬁfﬂmﬁrﬁa’r tgrav—{?rcg[

(B) AT HITSY TF B 3rhel BT B by et & @ e &

1.16, 50
2.16, 26
3.16, 80
4.16, 28
5.NOT




If A can complete a work in 15 days while B can complete the same work in 10 days.
If A started the work and after 5 days B joins him then find in how many days
whole work will be complete?

IfE ATH B Al 15 Al H QR B Ghdl & STdich BSHT BRI Pl 10 Gl F QT X Hehl
Tl I A BRI & fham 3N 5 &Al & a6 BIHA S Sl & al A ol 6 QU Py
fhdar feat & Q@ & Srwan?

1.7
2.9
3.4
4.8
5.NOT




It A can complete a work in 18 days while B can complete the same work in 30 days. @&}
They both started the work and after 6 days A left the work then find in how many

days remaining work will be complete?
e ATH BT A 18 Al A QR Y Hehdl & STdfch BSHT B Pl 30 &l H QI T Hehdl
T T S P YE WA & 3R 6 AT & ac AP Bl a1 §, O AT Hio 5 AV B

fhdar fgat & QT & Sruan?

1.20
N
3.6
4.9
5.NOT




If A can complete a work in 28 days while B can complete this work in 35 days. P\
They both started the work but after some days A left the work and B complete the
remaining work 17 days. After how many days A left the work?

Ife ATS PR Pl 28 Gl A QI BT bl & STdich BSH P Pl 35 Gl A QU I Hehdl
Tl d a1l P YE P & dfhd o &l & a1g A & oI f&ar 3R B AV & & 17
et 3 QT AT &1 fohda Gt & aig AT FT B fGar?

1.7
2.9
3.8
4.6
5.NOT




If A, B and C can complete a work in 10days, 15days and 20days respectively. A and
C worked together for 2 days and then A replaced by B. In how many days whole

work will be complete?
Ife A, B3R CTH Y Pl hAA: 10 &, 15 & 3R 20 G A g1 X Fpa &1 AR ¢ 2
feal & forw ueh a1y oA fhar 3R T A B gRT UfaedTiua forar o am| g & fohda

fear & Q@ & Swen?

1.6
2.5
3.4
4.8
5.NOT




If A, B and C can complete a work in 24days, 9days and 12days respectively. B and
C started the work but after 3 days they left the work. Find in how many remaining

work will complete by A ?

I A, B3I CTH &I Pl hAM: 24 f&d, 9 f&d 3R 12 GT # QU & Fhd 1 BIR ¢
PIH Y& fHAT Afhe 3 TGl & ¢ Seuld HA B [&ATI AGRT AV HR &l fhdd H QU

fepar STTaTT?

1.12
2.10
3.8
4.9
5.NOT




If A, B and C can complete a work in 10days, 20days and 30days respectively. They all
started the work, 6 days before the completion of work B left the work and 9 days before
the completion the work A left the work then find in how many days the whole work will

be completed?

Ifg A, B3R CTUHh PR &l hAM: 10 &, 20 f&d 30X 30 &l # QU oY Hehd & 9 G
BRI E P &, P QU @l ¥ 6 G Ugel B PR ©I3 161 3R I Q@ &l § 9 G
Ugel Ad & ©Is fear, af g fIfed fos @ & fedar feat & q@r & Smwen?

1.8
2.9
3.12
4.10
5.NOT




1 man, 3 woman and 4 boys does a work in 96 hours while 2 man and 8 boys can
complete the same work in 80 hours while 2 man and 3 woman can complete the
same work in 120 hours. Find in how many hours 10 man, 5 woman complete the

same work?

1 g2, 3 HAfgell 3 4 T3 Teh B D 96 Ul H d & STdich 2 GV 30X 8 oizch 34T
ol 80 Tl H QU & Hebd & Sidich 2 Jou 3R 3 HAfgell 3HT BRI &l 120 TSl HA QU &
dhd &1 ST HTSTT 6 10 oW, 5 AfGTT 3H HRA &l fhdad gl H QU Hd &7

1.24
2.36
3.48
4.12
5.NOT




C worked for all days till the work is completed. B worked for first 12 days and then
left and 3 days after D joined C and they worked till the worked is completed. A

worked for last 20 days. Each man did equal share of work. If A and C together can
complete the work in 48 days then in how many days A, B and D together can

complete the work ?

C B QU &l doh AT &l deb o fhar| B Ugel 12 T&Al dh oA fhar IR Y B
fear 3R D& ¢ H A T & 3 & I IR Iegld HIH QI & deb hIA b1 A Usel
20 feal O o1 fhaAT & U ATh o TATT T F HiA fhar| afe AR ¢ Fadpt o ot
48 feal H QU R TAdhd & dr A, B3R D A & &l fhdar feal F QU & @ &2

1.18
2.20
3.12
4.30
5.NOT




